Name Badge - MOPA GOA				Shree Balaji		ACE Corpration		Ambika Enterprises		
Sr. No	Item	UOM	Qty	Rate	Amount	Rate	Amount	Rate	Amount	Remarks
1	Name Badges - Size 1.75 Inch x 1.5 Inch, Print With Lamination On Steel Backside Magnet	Nos	200	100.00	20000.00	200.00	40000.00	205.00	41000.00	As per comparative
		Basic An	nount		20000.00		40000.00		41000.00	
		GST Amount : 189		6	3600.00		7200.00		7380.00	
		Sub Total Amount		t	23600.00		47200.00		48380.00	

B-6, Dalamal Towers, Basement, 211, Nariman Point, Mumbai - 400 021.

## ENTERPRISES

## To, Travel Food Services Pvt Itd

DATE: 09.05.2024

Particulars	Description	Qty	Rate	Amount	Amount with 18%GSt
Name Badge	2.5inch round – SS	200	205.00	41000.00	48380.00
Name Badge	2.5inch round – Acrylic	200	185.00	37000.00	43660.00

Terms and Conditions

Credit Period of 30 Days

Delivery 10 working days afer receipt of confirm PO

E. O

Thanking you

AMBIKA ENTERPRISES

GSTIN: 24AAVPA3478P1Z1			Performa Invoice Mo			ob: +91-9601284894		
	Shree Balaji Export							
	Mr. Chirag Agrawal, B/305 Mangalya Appartment, Bhatta, Paldi Ahmedabad - 380007							
	Email: shreebalajiexport.gifting@gmail.com							
PI No:		1201KTA		Place Of Supply:		Mumbai		
PI Date:		01-Mar-24	I-Mar-24		PI Date:		01-03-2024	
Client Name:		Travel Food Services	PO No:			Verbal		
S.No		Description of Goods		Unit Price	Quantity	<b>Buyer Code</b>	Taxable Amount	
1		Star Badges		95	600		57000	
2	Name	Badge (with variable names)		100	200		20000	
3 Name pl		ate (with a Acrylic plate 1mm)		150	200		30000	
							0	
	Bank Details					Subtotal 1,07,0		
Account Name Shree Balaji Export		Shree Balaji Export			Shipping (To Pay)			
Bank Name		HDFC Bank			Total		1,07,000.00	
Addres		Sarangpur Branch		Add: CGST@	9.0%	9,630.00		
Accou	nt No	02378140000507			Add: SGST@	9.0%	9,630.00	
Ifsc Co	Ifsc Code HDFC0000237							
	Terms & Conditions					Grand Total 1,26,260.00		
1	1 Lead time 25 days from PO & advance payment					For Shree Balaji Export		
2								
3	3 Prices mentioned are for specific qty							
4	4 Artwork to be shared by client							
5	List needs t	o be provided with font size and p						
	THIS IS A COMPUTER GENERATED INVOICE, HENCE NO SIGNATURES ARE REQUIRED							



To, Date: 09.05.2024
Travel Food Services Pvt LTD

## Sub: Quotation for Round Badge

Particulars	Oty	Rate	Amount	Amount with GST
2.2x2.5 inch round badge with magnet - Acrylic	200 nos	170.00	34000.00	40120.00
2.2x2.5 inch round badge with magnet - SS	200 nos	200.00	40000.00	47200.00

## Terms and conditions:

- 1. Payment within 15days after dispatch
- 2. Above cost does not include installation charges